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H & 0l & AHS B Ml A

2023E = 208 LBHE|H Y=
4= #m= QA HAAIED
M A0 SKTA 22|
Selr AL 28 (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b S2
HAFAI & D} 18,539,134 113,031,815 N ,492 681
SEH0 ZIRTHAL 2t 16,693,433 26,080,130 N9,386,697
HAF 248 5,843,600 3,600 5,840,000
HA e K& 3,600 3,600 0
203 R =&IH| 3,600 3,600 0
03 AlIBHF=EHR2=KRIH| 3,600 3,600 0
OFA HE =& 3,600,000 3,600
MNEA 24E 5,840,000 0 5,840,000
401 A& H|I L E0HY] 5,840,000 5,840,000
01 Al&HI 4,800,000 4,800,000
OAIEAN A AlZBI(EHIHI)
4,800,000,000& 4,800,000
02 Zeldl 1,000,000 0 1,000,000
OAIEAL A Zeldl (A& Ar2el])
1,000,000,000& 1,000,000
03 AlE20HHI 40,000 0 40,000
OQMNEA HE AL L0HE]
40,000,000& 40,000
A2 10,849,833 26,076,530 N 15,226,697
HAIAIE |2t 7,768,544 7,291,971 476,573
201 LBt AH| 2,447,693 2,227,596 220,097
01 AFR22t2ldl 2,000 3,900 A 1,900
OSATY (2L, B4 S)
2,000,000& 2,000
02 Bs249H| 2,445,693 2,223,696 221,997
O332 1,787,543
olMIIRE 1,447 525,000 1,447,525
oABIEERS 180,892,000& 180,892
oL AIIARE 159, 126,000& 159, 126
OFIIEA S 8HE HA2
40,000,000& 40,000
OAIEEH|RXIB] 614,500
o= Y ANAEKXIH] 510,000, 000& 510,000
oHAL| Y JIEIANAZE =Y
104,500,000& 104,500
OBAE 2 3,650,000 3,650
206 ME4| 73,000 64,678 8,322
01 28I 73,000 64,678 8,322
OFAI2Y & 22| 68,200
oARN XL 47,000,000& 47,000
oUE(ASH S) 2L 21,200,000& 21,200
OSSN =& s #¢& 4,800,000& 4,800
308 AXIHMSOIA 4,097,851 3,949,697 148,154




a2 @I A 0 HAAIED
M SO ZFE 2
el ARz EER=E)
AZ 24 - 3H - () - HRAY - BEZ Ofl kel Oaﬂg% Hlunsz
11 S| 2SUHEZ A A EAISH 4,097,851 3,949,697 148, 154
OAl EArzte| & 34 AT
2,961,6338,000& 2,961,638
OAl EAF 2EFIE 2 ST
445,167,000& 445,167
OeIdBE 2 IS
691,046,000& 691,046
401 AIEHIZ20HYI 1,150,000 1,050,000 100,000
01 Al&H] 1,150,000 1,050,000 100,000
OFAEZNLEZBAHAE)
650,000,000& 650,000
OFABHEMNESAHED|, 2Hl S)
500,000,000& 500,000
JAL SHE A 3,081,289 1,206,559 1,874,730
201 B2 AL| 2,877,044 1,028,459 1,848,585
01 AtR2telt] 2,877,044 1,028,459 1,848,585
O AXAIRA 22|(XE S)
2,877,044,000& 2,877,044
206 =4l 49,245 78,100 A28,855
01 =l 49,245 78,100 A28,855
OFA HHze|(2Y o ASH| )
49,245,000 49,245
405 KHHE SH| 155,000 100,000 55,000
01 ML SEFHSHI 155,000 100,000 55,000
OAIREHl 0A S &XI
155,000,000& 155,000
HE2IZH| 31,824 12,660 19,164
JI2ZEI(BAIAIED) 31,824 12,660 19,164
FAM2EH| 31,824 12,660 19,164
201 L2 | 14,784 6,720 8,064
01 At 22|l 14,784 6,720 8,064
ORA2I+EH| 8,544,000& 8,544
OJI2g 28 =] 6,240,000 6,240
202 Ot 13,440 3,840 9,600
01 =WOd LI 13,440 3,840 9,600
OJ|2g2=& ¢t 13,440,000 13,440
203 BRF=L 3,600 2,100 1,500
M FA2LHRFAHI 3,600 2,100 1,500
FA2EHRF=LH| 3,600,000 3,600
HRES(HAAI D) 1,813,877 86,939,025 N85,125,148
LHEHeH XIZ 1,813,877 86,939,025 285,125,148
|[EtS| HIA 1,813,877 86,686,970 284,873,093
701 JIEt2 HISEHEZ 1,813,877 86,686,970 A84,873,093
01 JIEtSIHEEZ 1,813,877 86,686,970 A\84,873,093
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- ERI(BIH) - ALY - BN Ofl Akt Oﬁgg

SISEeH dES

1,813,877,000& 1,813,877




